—ER THAZF RN RREREINE—

3E MK R A B 2,

1



56
30

’Fﬂ J:ﬂ ﬁ: %ﬂ *ﬂ:

% % % % %
= NEBTEEXTS? AR IR K. (6 47)
254+8=23( ) HiF:

53+4=93( ) KiF:

37—5=22( ) i&iF:

42—7=45( ) BKF:

36—(6—5)=25( ) MiF:

50—(7+3)=30( ) &KiF:
g, R IEAEO N HE—HE. (6 47)

o
25 95-50)

( )=>( )=>( )= ( )=>( )=>(
T fE M ESERE. (79)

38+ =44 —30=27 35+ =35—

—9<<39 +8>25

W, WATRAT EA FREZ T (5 4))

Q

I 1




£, BRSIA. (B2 57,

“QReE 1
Goeg 11/

7 4 607

C = ]« 14 o

I\ RS, (3T 4y, HARTEE 6 5, 25 4))

N—r

&

THGHE SR A _EACAT 45 85 5% 51 90 JT, FRIEIK 8 Ju, X EAXZ 4K

2 o & &

WSS T O3 HSER, B TS, —IRHZOAER?

3. —()FE28 N, —(2¥E30 N, —(3)HE 35 N, MEHAFEREAETT
PA— it 47

FRFE60 A

4, RFE A 94 Rk, Hrhw s 40 12, L REES —F 2 30 1E,
WEEbH L/ DRk ?

HEZ S 2393



